2021 IEFiiTbEE R

—. RiE:=H

1. D
main PR Z AT AR B R VR 2 B SR, el URII S L 1TSEX
2. A
BREEEIF L, CIREBXEF,D EMRFHEIEEFH
3. B
4. D
5. D
6. B
7. B
H{Tcase10Flcasel 1 HHAR
8. D
9. B
10. DEHE=TIEAE[0)FH)
11. B
p[1*3+0]thF Za[1][0]tEFEE U ITE
12. B
RTAB Ar->id;
13. D
(*++p)[11BMa[1][1],("p)[1]ENp[O][1]
14. D
*p22charsE B, S A
15. B
xRKEE\0', VT
16. D
17. C
18. B
AZREARE CAEIE DEREEE
19. D
20. A
psEIE T, E6AIFIEFH AR/NAN8F T ps@charE B psEAF 10+1(\0) N & bufferF BB TTER, VAR NA
6("\0")
21. D
NULLR R A FEREREAS, EMRIE SR 1F253L I, — A9 0x0,
22. A
23. C
++EREHAT
24. D

—. Bk

1. AD

2. BD

3. ABD
FAME A S P A E M E (N FEEREENE, FliN#ifdef), Fiib B o < BT IR 2SR, N H B IESR (%2 0) B, ~NE T
BEEARE.

4. BC

D aXK/NE11,1ZM IR AN AR N0!
5. BCD
6. ABD

CIEENRHMAR ATFER A LE X BEZEE, AL T BUARCIER, MIERAAFERBANTERAESAEX S
EEE, REIZKIESW A H)

1. 213.83
2. 1
\X41 R/ RF16:#HI R ~AYasciifld
3. 11
10N FRFI0N0!
4. 0
‘p++2BpiEEAR, N0 REEPBIE, 0248, 720
5. 200 100

(((x>="a')&&(x<="2"'>))&&((y>="a")&&y<="2"))
|| (((x>="A")&&(x<="Z"))&&((y>="A")&&(y<="27")))

7. 0
8. -1
9. 0
FIEAF N T al2][0], REAIE LI ERIER 7

. EFIREE

1. (1) (alil%j)!'=0
(2) continue
(3) j==alil
(4) a
2. (5) j=0
(6) str
(7) str[il!="\0"
(8) ((strlil>='a')&&(str[il<="2"))||
((str[il>="'A")&&(str[il<="'Z"))
3. (9) N+1
(10) m
(11) i-1
(12) m
4. (13) salary/500
(14) return salaryx0.05;
(15) return salary*0.15;
5. (16) mid+1
(17) mid
(18) mid
(19) -1

F

)

JRAE RN

1.

int find_str(char xstrl, char xstr2)

{
int i, j, flag = -1;
for (i =0, j = 0; str1[i] '= NULL; i++)
{
while (strl[i] == str2[j] && strlli]l && str2[jl)
{
i++;
j++;
if (str2[j] == NULL)
{
flag = 1 - j;
return flag;
¥
¥
j = 0;
+
return flag;
¥
2.
#include <stdio.h>
#define N 5
struct employee
{
char name[30];
int id;
float salary;
} empy[NI;
void indata(struct employee xempy)
{
for (int i = 0; i < N; i++)
{
scanf("%s%d%f", empyl[il.name, &empyl[il.id, &empyl[i].salary);
}
I3
void sort(struct employee xempy)
{
int i, j;
struct employee tmp;
for (i = 0; 1 <N - 1; i++)
for (j =0; j <N-1-1; j++)
if (empyl[jl.id > empyl[j + 1].id)
{
tmp = empyl[jl;
empy[j] = empylj + 11;
empy[j + 1] = tmp;
+
+
int main()
{
indata(empy);
sort(empy);
findata(empy);
foutdata(empy);
return 0;
¥
3.

#include <stdio.h>
#include <stdlib.h>
typedef struct Link
{

char c;

struct Link sxnext;
} link;

link *xinitlink(int num)

{

link xhead = (link *x)malloc(sizeof(link));

head—>next=NULL;

link *xtmp = head;

for (int i = 0; i1 < num; i++)

{
tmp=(Tlinkx)malloc(sizeof(1link));
tmp—>next = head—->next;
head—>next=tmp;
scanf("%c", &(tmp—>c));

¥

return head;

¥
link xreverselink(link L)
{

link *p;

p = L—>next;

L->next = NULL;

while (p != NULL)

{
link *tmp;
tmp = p—>next;
p—>next = L->next;
L->next = p;

p = tmp;
¥

return L;

}
int main()
{

link xh = initlink(5);
h = reverselink(h);
while (h—->next !'= NULL)

{
h = h->next;
printf("sc", h->c);
¥
return 0;



